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State Eligibility Test - 2018
(Final Answer Key)

Philosophy

Q1 : The view that 'Cit' and 'Acit' are two parts of Brahman is upheld by
TR 3R RIS siEeT & & #7 §, 38 [auR &t fhas 8 A

Shankar

T

Madhva

HET

Ramanuj

JTHTeT ST

9

Jaimini

Déﬁ?ﬁ

Answer Key: C

Q2: Which of the following in the context of Vasubandhu, is not an ‘Asanskrita Dharma'?

ageeY & Hecdl A oo & § Plerar 3GThd ad 78 §

Akasha

3TThIRA

Apratisankhya nirodha

svfaaear Ay

Vijnanskandha

RIS Tl

Pratisamkhya nirodha

Dqﬁmm

Answer Key: C




Q3 : Select the code that states the dravyas which are neither ‘bhuta’ nor ‘murta’ according to Vaisheshika
philosophy

IANh gl & Toedl H 38 fahed 1 Thel A |, [HS TR geg o o A& o &
-;:"\T_Yr%-:

Akasha, Kala, Dik

31TRTeT, el feeh

Kala, Dik, Atman

e, e, 3T

Dik, Atman, Manas

Akasha, Atman, Kala

D
TR, 3TcHT, el

Answer Key: B

Q4 : 'Reality has no assets beyond appearance and if appearance alone to it's credit, it will be bankrupt'
This is the statement of —

HTHTET F W T I IS FFAT o6l gl ¢ AR TTe hael AT g ITHT TFIRT g,d9
gg fearforar g STuem ag wue fohger & 2

Bradley

EECH

Kant

Hegel

SaTer

Mill

Dﬁlzr

Answer Key: A

Q5: Which one of the following statement is true —

Aafaf@a & O Hiaar a9 aT § 2

Berkeley is a conceptualist in the context of concept of universal

AT & T W el ITUROTEET §




There is no theory of universal in western philosophy

AT &2l H AT ¥ Fodieud s [eaid 787 §

As per nominalism universals are images in our mind

ATHAIE & TR AT AR AT A Tl JfdAT §

Aristotle is realist with regard to the concept of universal

D

WA & v 7 3RE aedade §

Answer Key: D

Q6 : Which of the following is not acceptable to Psychological Hedonism
AT @ # HloAar AAId=loh gEarG & AT 76 ¢

Almost all human responses, however altruistic, are ultimately based on selfishness

A | oramster Tl A JefhaTe TTg fehcetl o TR AW gl e Ty Afddr W 3menRd
g &

A sense of having done something worth while is also for the selfish motive

o T Al HT A o Tt gA@e & fov g

To get minimum satisfaction one should act in other's interest

AdH Fodive Ul & fAU giFd @l g@’l & R & faw o s s wifge

None of these

] [ ———

Answer Key: C

Q7 : De-ontological theories of ethics are concerned with which among the following

Aifa & aRomA foRdey e Hefaf@d # & f6a th 8§ g5t § 2

Moral rules

Afde o

Good consequences of action

ag—crawgaxﬁwér

Approval by society

dAHlol g4kl d'ifjolqri

Man's desire

AT SToTd




Answer Key: A

Q8 : The aim of Deterrent theory of punishment is

gus & foRreaTcAs {eeda & 3?\?\'3?1' 2-

To take revenge for the crime done

fPT T 39T & Yfa ISl ol

To prevent future act of crime

ATTST H 3R FT Ahall

To reform the criminal

ORI T FUR

None of these

D

ST FIS AT

Answer Key: B

Q9 : Unity of mental states has been suggested as a criterion of;

ATATAS TTATT T TohdT FF AT A T Fad FFy & 39 F yearad Far am §;

Knowledge of other's mind

3T HAH bl JATeT

Personal identity

FafFden eI

Unity of self

3TcAT T Tehdr

Universals

D
qrAg

Answer Key: B

Q10 : Inthe light of Kumarila's thought which of the following is incorrect
HARS & T & @t # q laar wyaT Tq&r w167 §

‘Pratyakshato drishtasambandha’, accepted

TIeTal TSCHFTL, AT &

'Samanyato drishtasambandha’, accepted




B | @HATdr TScqFse T, Al &

Memory as self-valid, accepted

wfd Taa: e &, 7T &

Accepts memory but it is not a pramana

D

i A= § foheq ag AT A8 g

Answer Key: C

Q11 : According to Nyaya in the perception of negation the following contact occurs
HAE & YcI8T H a9 A H faFed JhR & Afewdny giaT &-

Samyoga

e

Samavaya

HHIT

Samyukta samaveta

qgFd FHA

Visheshana Visheshya

D fayor - f3gsy

Answer Key: D

Q12 : Which of the following Khyativada regards '‘Bhedagraha'’ as the main cause of error
o T Rteia # ‘A & ¥7 &7 Y7E HROT AT T § 2

Akhyati

regfa

Viparita Khyati

CENGREIG]

Anirvachaniya Khyati

fadae Efa

AtmaKhyati

D
e

Answer Key: A




Q13 : Ingiving an account of correspondence theory, who among the following appeal to the 'Descriptive'
and 'Demonstrative’ conventions

Iefeperall & Aeeid & @eel A, & @ ey qoiarcas a Hehdlcas' Teafardl &1
HTaTge YT &

Dummett

3FAC

Searle

ol

Wittgenstein

fagirersa

Austin

Dam—ﬂ?r

Answer Key: D

Q14 : There is nothing like absolute truth according to
foRdeT Ted ST Fo G g, e # @ T8 e Rieaia & ger &

Coherence theory

HaeFaar qegia

Correspondence theory

Harfear e

Pragmatic theory

3rdfRamarer RAtea

Both Coherence theory and Pragmatic theory

Dmmamymmmm

Answer Key: D

Q15 : Which of the following problem challenges the uniformity of nature ?
st 3 & FleTel FHET IFT HT TEHETAT F oA Sl @

Problem of error

T & gHEET

Problem of truth




B |acT & gaear

Problem of induction

HETHA HT gHEAT

Indefinibility of knowledge

Dam@rmﬁaqm:m

Answer Key: C

Q16 : Which of the following thinker has tried to demolish ‘Skepticism' on the basis of common sense
Hegale T AT Jftg & HUR W €qd el FT 998 @0 7 § g faors o
T -

Kant

hIuc

Moore

W

o

Russell

el

Wittgenstein

D
facimaarss

Answer Key: B

Q17 : The only source of knowledge for 'Svalakshana' in Buddhism is-

dieg &9y I TIATOT & AT HI Tk AT HT &-

Pratyaksha

Erot)

Anumana

3eTHATT

S

Upamana

3Y9HTT

Shabda

D
qeq

Answer Key: A




Q18 : Inferring the hoof of an animal by looking at its horns is an example of

forely a3l & HT T GG 3HF G HT AT oA, T§ SHHT 3aT6 0T &-

Poorvavat

qdad @l

Sheshavat

SEERY

Samanyatodrsta

FHAIAITSE

Parathanumana

Dwﬂﬂ?fl'lﬂ'

Answer Key: C

Q19 : 'Sound is etrnal,being produced' is an example of-

eafe T §, 3cUeeT 8l & HRUT, 3&T8I0T § , [T -

Satpratipaksha

qegfaaet

Badhit

EIIEEH

Viruddha

faweg

Asiddha

Dl ez

Answer Key: C

Q20 : Under Rna-traya which of the following is not a Rna
RHO-3T H T 7 & Slaar o1 7 &

DevaRna

CERY]

PitriRna

IECE)

c




RshiRna

ENERI

ManushyaRna

D
HeSTHT

S

Answer Key: D

Q21: Which of the following has not been kept under Trivarga
Aafaf@a & O Fasr & Rast & a8 w@r = §

Dharma

3r=)

Artha

ke )

Kama

hIH

Moksha

DHT&T

Answer Key: D

Q22 : Bhagwadgita refers to which of the following person to elaborate on the concept of Lokasangraha
HITGEINAT H NhEIE h HTURUT &I I5¢ Aol & @0 & & fha afFa &1 3eaq
T = &

Janaka

Sloleh

Arjuna

379

S

Yudhisthira

RIBIETY

S

Krishna

D
o7

C

Answer Key: A




Q23: 'Mudita' Means-
Hfear &1 319 §-

Friendship with all

a9 ¥ YT

Neglecting the vices of others

gEY @ qUSAT W AT o ol

Being happy in the virtues of others

IRl & HeF[ull H Y&el glel

Compassion for all

D
SATATT

Answer Key: C

Q24 : Which of the following is the most important cardinal virtue in Plato's opinion

Torel & AR foet 7 @ wafea wegor §

Wisdom

gfee

9

Courage

died

Self Control

papipsy

Justice

D
C

Answer Key: D

Q25 : 'My station and it's duties' is the view of

T ST 3R 3T+ ST IJg qegid g-

Kant

hIUC ol

Bentham

SUT FT

Green




C |3 &

Bradley

Dagﬁrao‘r

Answer Key: D

Q26 : According to Moore —
(i) Good is indefinable
(ii) Duty can be defined in terms of good
Select the correct code from below

& IR -

(i) 3T 3raReTST &

(ii) e T Y & ATETH F gReANA fohar S Feher §
3Fd HYA & HUR T FEI FHc AT ThT

(i) is true
Al
()& &
(i) is true
Bl
(i) TeT §
both (i) and (ii) is true
¢ ()T (i) =t T &
Neither (i) nor (ii) is true
D Jar (i), ar(i)aT g

Answer Key: C

Q27 : Which of the following is the contrapositive of "All journalists are pessimists™.

AT & O Sl "l gFeR fRRmaKy §" U #T SigMived ¢:-

All non- pessimists are journalists

s o7 - foRrnardy, TR §

All non- journalists are non- pessimists

gl & - RN, T - FARmEer §

All non- journalists are pessimists

sl o - 9IPR, ToRRmaKr §

All non- pessimists are non-journalists




D|&sf & - Rmemardy |, &1- 996K §

Answer Key: D

Q28 : PV-~P is true as per-
PV~P foie=t fa9@ &7 310k | -

Law of identity

derceT &1 Fad

Law of contradiction

=qTaTd & A

Law of excluded middle

FqEIH IREUT FT HIdT

None of these

g

Answer Key: C

Q29 : If the conclusion of an argument is false,which of the following is true-

I fordll FiFaat 1 sy 3y g,ar et & @ $laT 97 &-

It is an invalid argument

a6 U HIY giFd B

It is a valid argument

g6 U Y ik &

It is not a sound argument

I8 3 i el &

It is a sound argument

Da's'amg%—cr%

Answer Key: C

Q30 : Which formulation of the following is correct " Argentina mobilizes and either Brazil declares an
embargo or Cuba continues to send arms to South America".

AT YA FT HIT-AT HHR LT &= "37ofecledl gordol lar & 3T a1 ar ol gresdr
BN YT §, A7 FaT STaToT AR & 3eT Fofdr o |

(AvB).C




A|(AvB).C

Av(B.C)

AV (B.C)

A.(BvC)

C
A.(BvC)

(A.B)vVC

D

(A.B)vVC

Answer Key: C

Q31: Consider the two premises and deduct the conclusion
"No heroes are cowards
Some soldiers are cowards"

Gl deh aTFar & YR W TET o & fAerfaa &
'S ol AeeT FRR AL §

o [@uEr HrR g

safaT :

No Soldiers are heroes

FS AT Aeer 7@ ¥

Some Soldiers are not heroes

o R wear &

Some cowards are not soldiers

Fo HRR O 767 §

Some heroes are soldiers

D

o Arear (e §

Answer Key: B

Q32 : Identify the proposition "None but the brave deserve the fair"
g, 3 YU Piel AN qh g § "dRI & IHeArdr HR P YHAT & A9 7L g

o [m| A >




C|3ms

o)

Dl

Answer Key: A

Q33 : The doctrine of original sin is related to

Hqel 9T 1 Qe Foafeed &

Islam

STITH 99 O

Christianity

$as A o

Hinduism

Reog e &

Jainism

oy

Answer Key: B

Q34 : Which of the following statement is incorrect in the light of Husserl's Phenomenology

§'H?»? F TY-"eAT AT & eddid @FT H & HITar FUT T&r JAer &

Phenomenology is science of consciousness

T geaT A Igar &1 [(FeT §

Naturalism fails to account for consciousness

yehfddre ddelr S HHSE H A §

Naturalism allows humans to see 'essence’ or 'ideas’

Yehiddie #IsAl H GR' T GoIT ST H HeIh §

Phenomenon have no nature

D

TSI U & s TIHT A8l §

Answer Key: C

Q35 : Religious conversion is not possible in-

farT A & frg A AR GFHT A8 &-




Islam

ST

Christianity

ST e

Buddhism

steg ey

Zorostronism

D

g g

Answer Key: D

Q36 : According to which of the following religion idea of physical immortality is upheld
foFfora & & FleT ar g7 R 3FRar 7 faeara a1ar g-

Christianity

sae uH

Judaism

Tgar ad

Islam

SEATH gH

All of these

D

s & Tl /e §

Answer Key: D

Q37 : 'Morning star' and 'Evening star', according to Frege, have
BT & IHJHR THIT dRT FAUT HET TR A:

Same sense and same reference

AT Y AT AT Ader

Same sense but different reference

AT HT JAfheT et ASer

Different sense but same reference

et 371 Afehed FAT A&

Different sense and different reference




D | 3717 gar @ Ader

Answer Key: C

Q38 : Theory of Types was given by-
¥ (TR -Fatgia &1 gfauree fhar-

Russell

W &

Wittgenstein

Rcireeréer &

Quine

FaSA o

Dummett

Dgﬁ‘dﬁ

Answer Key: A

Q39 : 'l name this ship as Vikrant', is according to Austin-
H 38 SIEIST & A fdshled W El' TE T T ITEN 8-

Constantive

IGEGRCEG]

Performative

fasqres aae

Both Constantive and Performative

g 99 T UG g ar

None of these

g ——

Answer Key: B

Q40 : The qualitative identity between a 'proposition’ and 'state of affair' in early Wittgenstein view is-
iereATCe qur qEqfefa # qocHs dercry qdaeid it & adel # Sgolrdl
&-

One to One correspondence




A|Tdhe gafa

Formal resemblance

3ThRETT d1F-d

Rules of projection

gaquT & e

All of these

D

ST & Tl /T §

Answer Key: B

Q41 : Which of the following thinker has rejected the distinction between ‘analytic' and 'synthetic'
feTihd & & Pl T erifasd F TARVUNcHS Ud "TIVUIcHS & H I AR
e §-

Russell

e

Wittgenstein

facererea

Quine

SEIED]

Strawson

D
T

X

Answer Key: C

Q42 : Match the List I with List 11 and select the correct answer from the code given below-

List | List Il
a Ramanuja 1 Anubhashya
b Vallabha 2 SriBhashya
¢ Shamkara 3 Panchapadika
d Padmapada 4 Sharirak Bhashya




TAll-1 7 G-Il 6 |y AeleT ST 3R A= QT 710 He & @@l 3w giav -

Yl LS
3 AT 1. 3798
g dead 2.8 TS
. AT 3.9=arfcanT
G 9sIg 4, AR AT
ETS
a C d
2 4 3
A
3 El q G
2 1 4 3
a b C d
1 2 3 4
B
3 g g o
1 2 3 4
a b & d
2 3 4 1
C
3 g g G
2 3 4 1
a b C d
1 3 4 2
D 3 g q B
1 3 4 2
Answer Key: A

Q43 : Who among the following advocates the philosophy of ‘Bhedabheda™?
'FeTHe T T FHYT A F A T T £ 2

Nimbarka

IGE=IED

Vallabha

deod

PadmaPada




C |JeATe

~

ShriHarsha

Dl e

Answer Key: A

Q44 : Which among the following Vedantic Philosophers advocated ‘Pushti Marga’
i@ # & @i § defed it o qiSe AT &1 A fhar § 2

Vallabhacharya

ToTHERT

Ramanujucharya

THATASTIRT

S

Madhvacharya

eI

None of these

D

ST FIS T

Answer Key: A

Q45 : Gandhi criticizes all, except-
el o T # foraes Rara et 3meraer 1 g

Greatest happiness of greatest number

TR SEl & gt go

Upliftment of majority

agﬁmwm—

Mass production

™S AET H 3c9c

Upliftment unto the last

DWHWBFQH?—T

Answer Key: D

The first mantra of IsavasyaUpanishada directly influences the following theory of Gandhi-




 SAErEEfAYe & g 7T A el & e A @ e R # goaera: getad

Q40 .

Sarvodaya

Hafed

Trusteeship

=TT

Bread labour

oAt AT

Panchayati Raj

D= -

Answer Key: A

Q47 : The following is not true about Rama Rajya
TH T & AT & oot H & 1 IcT A8l o-

It is an ideal of stateless society

g TTEA 3TTTAT HT e §

In this stage, the inner moral force shall be sovereign

$H 3aEAT A aifdeh HecRDde & qFve &

In this stage, Dharma shall be Supreme (rule)

3 7ATAT H GH AT AR g1l

In this stage, sect shall be Supreme (rule)

Dsummﬁc’ruasremgﬁn

Answer Key: D

Q48 : Consider the two statements and choose the correct pair from the codes

"Knowledge involves a transcendental movement of self" ; " Knowledge is a result of causal
operation"

al Yel &l FHE R Fe 7 F T I IaA-

AT AT T Wi fhar & S SROTar & 3cag g

%,

[-N




Kumarila ; Nyaya

go—ﬂTﬁTsr;RTm

Prabhakara ; Kumarila

THIHRI ; FATRS

Prabhakara ; Nyaya

AT | A1

Nyaya ; Vijnanavada

Dnrru;ﬁtﬂrrlana

Answer Key: A

Q49 : Consider the folowing Assertion (A) and Reason (R) and select the correct code given below
Assrtion (A) — According to Prabhakara Padarth is independent of vakayartha.

Reason (R) — According to Prabhakara 'Pada’ is the unit of meaning
fRrafaf@a siffises (v) @ gfdd (M) W fER fAfSw ik R v Fe & @@ 31 &1
g FIST -

HAPYF (T) - JHH & AT & Uerd gy & FodT &

IfFd (3IR) - G F AT H 7Y A 5HE uT

S

e

e

Both (A) and (R) are true and (R) explains (A)

(W) F (IR) S T § T (3X),(T) T qredm Far &

Both (A) and (R) are True and (R) does not explain (A)

(T) T (3R) ST T & oifhed (31R),(T) FT AT 78T AT &

(A) is true but (R) is false

(T) §T & 9 (3R) 38T &

Both (A) and (R) are false

D (T) 9 (3TR) et 39T &

Answer Key: D

A person may be free from DevaRna by




Q50 : feATaf@d 3ural # & fh| & @RI hidhd GakOT & HF & Hehell &

Performing Yajna

A?:ltrraqr—p-o"l?—rﬁ

Observing Brahmacharya

SeAad-UTeld o

Giving birth to child

TR 3cTeeT e

Uttering mantra

D

HAAIRUT aleh

Answer Key: A

Q51 : Match the Set | with Set 11 and select the correct code-

Set | Set |l
a RK 1 Udgata
b Sama 2 Hota
¢ Yajuh 3 Adhvaryu
d Atharva 4 Brahma
-1 & Ty -1l w1 gafad RfST T @@ fe w1 giao-
T bikial
A FD ISEUIGH
CRIIE 2.8far
A 33y
S. Jpord AT
%
a o S - d
1 3 2 4
A
H d q
1 3 2
5 z b ¢ d
2 3 1 4




A g 9 3
2 3 1 4
2 b ¢ d
= 9

C 3
k| g ¥ -3
1 2 3 4
a b & d
4

D 3 2 1
k1 g ¥ -4
4 3 2 1

Answer Key: A

Q52 : Knowledge of a thing in it's relation to other things is recognised by Jainism as-

fohell o 1 AT 3 aEGIT & IRVET A ST g F AR

Avadhi

afear §

Pramana

JHTOT &

Mati

Afd &

Naya

o]

Answer Key: D

Q53 : Which one of the following is not the reason for charvaka's denial of inference?
<TaTeh GaRT AT JHIOT & TUse & v foetifehd & & e a1 v oo gAY w7g0
g7

The invariable concommittance cannot be proved among particulars

A 7 PAIw agad # Rt F& FAr S Goar

If inference is concerned with samanya, is an example of petitio-principii




3T Afe AT & T glal 3cAd eIy &l Teh 3G0T §

The observed case gives no guarantee about unobserved cases

TR geaATv 37T TeAT3i T s IRUET AgT aar

D

Inference is of no use in the pursuit of worldly happiness

HERE U & Gl & AT AT & DS 3UAT 761 §

Answer Key: B

Q54 : The 'Asamvayikarana’ of the colour of a piece of cloth is-

fRrafaf@a & & @l @1 #93 & ghs & W1 1 HFHIA FROT 2-

Piece of cloth itself

m?iasq?a?rga@

Colour of cloth

$US &I LT

Colour of thread

1T &7 LT

D

None of these

3T @ FIS A

Answer Key: C

Q55 : Which of the following is not a characteristic of 'Hetu'

fAefaf@a & & @laar oeior g &1 =8

Pakshadharmata

eTeHdT

Sapaksasattva

IETHT

Badhita

arfere

D

Vipaksasattva

ageraca

Answer Key: C




Q56 : Which of the following set is consistent ?
foetiferT & & SleT a1 oA o §

Nirguna- Ramanuja

9 - 9

Vishistadvavita — Gautama

fafersereda - aitas

Satkaryavada — Kanada

HchRIdIE, - UM

Shunyavada — Chandrakirti

D
YEIAIG - TeGehlich

Answer Key: D

Q57 : The theory of evolution accepted by Shri Aurbindo is called-
A IRTAwE g Thd fahra Feaid FHearar 8-

Emergent Evolution

3T A |

Mechanical Evolution

gqifede Qe g

Integral Evolution

FHT A

All of these

Dl aar 2

Answer Key: C

Q58 : 'True Knowledge', according to J.KrishnaMurthy is —
SFT Hid & ITER G AT g-

Accepted by religious text

50 o anffe o & AT &

Prescribed by teacher

Rl 75 o e R &

Unconditional awareness




C | 3wfaefcyua Iaaar

None of these

o] [ ———

Answer Key: C

Q59 : Identify the logical demand made on us is by Anivarchaniya Khyati
foa & @ sfAdadT Tfd g7 ST drfehes AT AT §, IgdTe] HIToIT -

Acceptance of unreal as real

AT &Y FAT & T H AT

Acceptance of the exhaustive classification of object in to real and unreal

TERT & FUY T 37U oM 7 FEQOT Felieior T AT

Agreeing that there are entities that are neither real nor unreal

38 I W HEATT &1 o OHr aEqU §S F o Jurd § AR a7 & ey §

Mistaking some real objects for some other real objects

D

$ dRdfdh TEGHT P S IR ddfdd TEGIHT & 3T H ATl Hi e g

Answer Key: C

Q60 : One of the step of Sadhana Chatustaya according to Shankar is-
AT & IJAR AL IJSeAl & TR # & Th g-

Prakriti-Purush jnana

c P W

Mumukshatva

HHAGTcT

929

Nityavibhutijnana

PR

Anumanjnana

D
3TTATT AT

S

Answer Key: B

Q61 : The Samkhya-theory of causation is based upon-
{Eg g2 1 HROET faeerd 3maria g-




Effect is not related with cause

FR FROT ¥ FFaleeld el &

Effect does not pre-exist in cause

FF g ¥ HRoT H ART 87 war &

Effect is produced out of nothing

FY YT  3cTol el &

Effect pre-exist in its cause

O |t o o 8 2 Rrezmamer e 8

Answer Key: D

Q62 : Which of the following Philosopher has advocated 'Subject as a freedom’
eifrd & @ 59 eifas & Tadadar & ¥9 & Qv &1 g#7d= Far §

K.C Bhattacharya

F. . ey

Tagore

&I

Shri Aurobindo

# 3RTae<

Swami Vivekananda

Dﬁwﬁﬁé?ﬂ;ia

Answer Key: A

Q63 : Who among the following has addressed supreme reality as ‘Jeevan Devata’

fIfaf@d & ¥ fhasr AT FT Siad ¢adr & 39 & Feaifad faar g

Shri Aurobindo

£ 3RTaee

S. RadhaKrishnan

TH ITTHSOT

Swami Vivekananda

TarY fSaeletee

Igbal




D | geharrer

Answer Key: B

Q64 : Who among the following holds the view that ‘Divine Knowledge is creational and as there is
nothing outside God. He Himself is the object of knowledge. He creates as He knows and knows as
He creates

fAeAfaf@a & & e faar & o &dl e golarcas &3t $o i St § ey
el & | 98 T&d 3Yel Al I a9 §| 98 ST Slelel § , 3T Folel il g 3R ST
golel el & a8 o9& SAeAel g1

Tagore

&I

Igbal

ShaTel

K.C Bhattacharya

. . Aceay

Shri Aurobindo

Dsﬁsﬁrﬁﬁ:

Answer Key: B

Q65 : Which of the following statement in the context of Hume is not true.

fArafaf@d Fual ¥ gg97 & dest # & wlaar FuT 31897 §

Relation of ideas are a-priori

YeI & Hey yafafeyd gid &

Relation of ideas are dependent upon the observer and thus subjective

TIT & G A W R g ¥ HfFas e &

Relation of ideas represent universal bond between the ideas

TeAT & Y GoAAl & HET HEY & FAb Bl o

‘Matter of fact' are not held to be true universally

D

TLATcHS gcaTehd TaHfie T O TcT 8T Fgl ST Fohdl

Answer Key: B

In criticising Plato's account of substance, which of the following is not an Aristotle's argument




066 TSl & G & WA HI AT & de # fAefafld # @ wlaar sue 3req i

Ideas are abstractions and cannot account for the existence of concrete things
A TeAT 3 ¢ safav ifde gerdl dr sarear 7 neTH §
Ideas are necessary reduplications of things and are non explanatory of their nature
® FeTT TEGIHT FT HARID Il &l W FoIh TR T ICAEAAT FA &
Ideas are static and eternal
C e o 3 e &
Ideas are posterior rather than prior to particular things
D YT aE] 3Wid g, & 9@ el

Answer Key: B

Q67 : Consider the following according to Augustein
a. Soul is an immaterial substance.
b. Soul is created by the divine miracle in time.
c. Soul has neither orgination nor death.

Which of the statements given above are correct

A=A FYal R TR RAIfST- IS & 3gaR

31 3T T 33iaS g7 &,

F 3cAT fGeT THCHR SaRT TAT (FIT) H 3ceet HI TS .
T 3McAT T o dr 3c9id & AR & & 7.

SWIFT FYAT 7 F BT TT TE

aandb

I3 T

bandc

g 3R ¥ o=t

aandc

IR T




a,b,and c

Da,aﬁh'\cr

Answer Key: A

Q68 : Which one of the following statement are not true to Descartes ?

ArATaf@a H T FieT a1 HYUF Shid & v TEr T8F & 2

| think therefore | am

ﬁi‘:ﬂﬂﬂlé}lﬁﬁé

Mind Body affect with each other

Hl CF TRER Teh q@ll &l gemfad i §

Existence of world is self evident

ST T A¥dcd Tad: e §

Clarity and distinctness are criterion of truth

Dwaﬁfﬁwma:m%

Answer Key: C

Q69 : Which of the following, in the context of kant is not an antinomy-

At & @ *ic & deoT A FHladr vl 78 8-

The world is eternal; it has a beginning in time

S AT & THT # g 3¢ g3 &

The bodies are infinetly divisible and not infinitely indivisible

FEIU 3eTed TUOT fAeT § AR Icaeaor sifasrsa g §

Man is free and the Being is not

HIST HF &, W AT TgT

Being is the cause of the world and there is no such Being

D

WHACAT ST T i T HROT & 3R 0E HI$ WA Fear 78 ¢

Answer Key: C

Q70 : According to Nietzsche which of the following statement is not in accordance with the concept of
"Ubermenschen" (Superman)

A & AR GIRHAT & fqeeld & Tocsl H Hlad AT HYA IR &

Men willingly sacrifice pleasure for the sake of greater power




IS 3118 AL g 8 G@T HT AT A §

We acquire greater power when we are dominated by anmal passions

§H TELGAS 3T MR & TSI & o g Thol &

Pursuit of happiness involves self-discpline

3Aee-aIfd 3TcA-fAI=0T AT §

D

Avrtistic creation is an instance of such greater power

HleedTcAs TWATcHRdT QrazdefeT 8l &7 Ueh ofefor &

Answer Key: B

Q71: On the mind-object relation,the position of Kant is that of-

ATA-AT GFIe X HIUE FH Ad g-

Realism

FTaTe

Idealism

Y gdiq

Empirical realism and Transcendental idealism

HiegHtdeh FUrdare qur s Jeagare

D

Transcendentialism

KIS EAIECIEIC

Answer Key: C

Q72 : Mindin Spinozais a

U & AT H AT oo g

Mode

IGEQES

Finite mode

WA TeR

Substance

acg

Attribute




D | =™

Answer Key: B

Q73: Berkeley rejects abstract ideas in order to-

AT U HT GUSH Fehel TH & P o-

Reject matter

SIsdcdl &l WUse

Reject universal

AT hl YUSe]

Reject realism

JAUTIAIE T WUST

None of these

g

Answer Key: A

Q74 : According to Ryle which one of the following is correct

TS & 3R A& & & Hid & T Fqer &

All Physical events are reducible to the mental events

Tt i Teat AWTAS et A g g AT &

All the mental events are reducible to physical events

el A Teat sHifdes geait # F:gd g 9T §

Both All Physical events are reducible to the mental events and
All the mental events are reducible to physical events

c sl #ifcier Teat A geadit # F:gd g A § aur @l A gear sifds
g3 & gd g AT §; &t

None of these

g

Answer Key: B




Q75 : Match the List I with List 11 and mark the correct option as given below
List 1 List Il

Logical Positivism William James

1
Phenomenology 2 | Husserl
Logical Atomism 3 | Ayer

Pragmatism 4 | Russell

a
b
C
d
-1 7 -1l & ey FATIT A R efaf@d et & & @81 [asved 1 age

-
- | -1l
3. difehes HIGdIG 1.fafeas o=
g.gafdares 2.8
q.aifdhe 319aTG 3.3
S.cgdpRdIq 4.13(_4
a b c d
1 3 4 2
A
3 g g g
1 3 4 2
a b c d
% 2 1
B
¥ g q g
3 2 4 1
a b c d
3 1
C
H g g a
4 3 2 1
a b c d
2 4 1 3
D
3 g £3 &
2 4 1 >

Answer Key: B




Q76 : Consider the following statements regarding pluralists.
1) Empedocles believes in four fundamental substances
2) Anaxagoras believes in infinite numbers of material substance
3) Anaxagoras accepts 'mind' or 'nous' as an intelligent principle.
Which of the above statement is true?
dgcaare) fauRet & Heesl A fart Hual W AR Hifse-
1.uFdISieFellsl IR AT gedl o TR A gl
2.TAFaRT 3EeT Hifds geat & TR Fa §

3.TAFRIRT "HAAT T 3T A Ueh §iitesh [{egid & 39 7 AW gl

3UUFT H F Pl O1 AT TT ¢

1and 2 only

13K 2%ad

1,2and 3

1,2 3R 3

1 and 3 only

1 3R 3%had

only 1

Dam?»rl

Answer Key: B

Q77 : Feminist thinker who adopted phenomenological method to explain feminist problem is :

d ARIEET Ride S AR GAEAT3T B AEAT g BeATHATe TRl fafer T o= -

Judith Butler

Sfsy FTer

Simon de Beauvor

ASA & Jar

Wolstone Craft




C

glellcd HhRYC

D

Sheila Rowbatham

efrerr Qaras

Answer Key: A

Q78 : Which of the following according to "Yogasutra' is not a chittabhumi?
AT GF F AR e F § FlaT v RAfefH a8 ¢ 2

Viksipta

faferea

Mudha

HAe

ay

Vikalpa

ICETRE

D

Nirudha

IGETASS

LGN

Answer Key: C

Q79 : Match List-1 and List-11 and select the correct answer by using the codes below :

List | List 1l
a | Nyayakusumanjali 1 | Udayana
b | Tattvachintamani 2 | Jaimini
c | Yogasutra 3 | Gangesha
d | Mimansasutra 4 | Patanjali
-1 T -1 A AR JE 3R AR QT T g & R )W
- -l
A PpIgdciiad 1.3
g.dcafdearauft 2-‘—;”5'5“
q. e 3.30191
g A IACEIR
a b € id




¥ 9 T 8
2 4 3 1
a b C d
3 3 2 4
B
37 g q g
1 3 2 4
a b C d
1 3 4 2
C
- | g =
1 3 4 2
a b C d
3 1 4 2
D
3 g q g
3 1 4 2

Answer Key: C

Q80 : Which one of the following is not a stage of knowledge according to Spinoza ?

st & @ FlT PUAST & AR AT T 3T 7gT § 2

Imagination

oYl

Intellect

gfee

S

Adventitious idea

R e

Intuition

D

3o J2AT

Answer Key: C

Pierce's theory of truth is known as :




Q81 : ¥ & Fcg-fAtaia & @l S &

Instrumentalism

A
ERCRUICIY

Correspondence

Harferare,

Pragmatism

379-foramare

Conference

D

HITIdTIE

S

Answer Key: C

Q82 : Match the list I with List 1l and select the correct answer by using the codes given below :

List | List Il

a | Russell 1 | Individual

b | Ross 2 | Principia Mathematica

¢ | Quine 3 | The Right and the good

d | Strawson 3 | Word and object
-1 v -l A1 gafaa Hifee AR @ QT 1w fet o1 39T FRd §T A€ 3R/
qifeT

- | ar- 1
3.3 1. s3faepTa
ERe: 1 2 afafar AdEieer

q.FaBs 3% s Ws g I3
= T 493 UUS HEodC

b € 'd
3 4 1

N Yo o
w 2
w




a b C d

3 4 2 1
B

¥ § 9 3

3 4 2 1

a b C d

4 3 1
C

¥ § ¥ 8

4 3 2 1

a b C d
5 1 2 4

¥ § 9 3

1 9 3 4

Answer Key: A

Q83 : The concept of causation is a-posteriori but not apriori is the view of the following :

"SHROTAT &l HTURUN AT § & foh 37egera RUeT| g fohaer A & 2

Aristotle

3E]

o

Hume

T

[N

Mill

)

All of these

Dl ot var 2

Answer Key: B

Q84 : Nyaya believes in which of the following :
g fArafaf@a # @ fran Aeame & &

Swataha Pramanyavada and Parataha Apramanyavada

Tad: YATUIAIE U9 Gd:3ITHATIITIE




Parataha Pramanyavada and Parpataha Apramanyaveda

W YHATOIAIE Ud Rd:39HATUIAIG

Akhyativada

3regifaarg

Viparita Khyativada

D

[EEKIG IR IGEILS

Answer Key: B

Q85 : Who among the following reconciles Understanding and Sensibility for the attainment of proper
knowledge ?

fFrfafEa & & &ia qdfas gite vd 3egoa &1 dHayg 3T A= & Wit & faw
HlATT § 2

Hume

TgH

N

Locke

Bl
CIED

Russell

e

Kant

D—
HIC

Answer Key: D

Q86 : Who has recommended the 'Hedonistic Calculus’ ?

fArtfaf@d # & fra arifas A g@Eardy sisheler 1 geaifad & &

Mill

)

Bentham

SESP)

Sidgwick

IGEIEED

Epicuras
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Answer Key: B

Q87 : Which of the following theory holds that conscience is rational in nature ?

fmfaf@a & & v a1 R{tgid Aar § & 3ed.a0r #1 FTaey digfts §?

Philosophical intuitionism

ARG E I G R |1

Rationalism

efaarg

9~

Dianoetic Theory

dehale,

Unphilosophical Intuitionism

D R ARG E K Ere BE B 1 ] 4

Answer Key: A

Q88 : Find out the fallacy committed in the following syllogism :
No logicians are politicians.
Some philosophers are logicians
Therefore,No Philosophers are politicians

ffaf@a e & cared & Qi saa Hifaw:
FS grfAs ThAE TSt 8 &

o s ahareE §

TS g Toeifas 7er &

Fallacy of illicit major

3eaTed HEY U arl

Fallacy of illicit minor

3T HAET UG AN

Fallacy of four term

ECASCHEGIR

Fallacy of middle term

D
3ICd ALTH Uc arel

Answer Key: B




Q89 : Who among the following proposed that " Things" are the copies or imitations of numbers'

st 7 & FE & garT ag A TR § B aEqU I Y IegEia 7wt @ @

Avristotle

3RE]

Pl

Anaxagoras

TAFAREIRE

Zenophanes

Silsirthet

Pythagoras

Dtrréﬂm

Answer Key: D

Q90 : Who among the following does not belong to Eleatic school

o &7 O =i sforafce Tovea & A8 &

Parmenides

URATSSI

Zeno

Eioi

Heraclitus

JIETIES)

None of these

] (-

Answer Key: C

Q91 : 'Existence is Perception’ Considering the statement, who among the following interprets the term 'is’
in the given statement in three ways

AT UcTeT 30 FUT H T U & T A ¥ frgey A IR & faawor fgar §

Russell

oo

Hume




DI~

Answer Key: C

Q92 : Who among the following insists on the reality of empty space as a condition of the motion of atoms
T & @ Sl T§ AT § & 303t 1 a1fd & fov R AmprrEANE #94) w6
Y 3maeTs o &

Anaxagoras

UAFATRY

Empedocles

TFdSTeFelaT

Parmenides

URATASSIS

Democritus

D%‘maﬂé'w

Answer Key: D

Q93 : For whom among the following ‘Love’ and 'Hate' cause the elements to unite and divide.

fart & ¥ fofg & T 97 9 g@w acdl & fAea 3R e g & SROT g g

Zeno

Eioi

Xenophanes

SeiTthet

Leciuppus

SRR

S

Empedocles

D

TEdISTerellaT

Answer Key: D




Q94 : Which of the following according to Jaina philosophy is not a kind of 'Ajiva’
ST & & HJAR et A § Hlorar 3efa &1 de 7@ B

Kala

plel

Pudgala astikaya

gearel e

Punya

quyg

S

None of these

Ol & i 80

Answer Key: D

Q95 : Match List-1 with the List-I1

List|1 Listll
a | Descartes 1 | An Essay Concerning Human Understanding
b | Locke 2 | Treatise Concerning the Principles of Human Knowledge
C | Spinoza 3 | Cogitata Metaphysica
d | Berkeley 4 | Meditations

-1 v -1l 1 gAfeaa Hifee AR 7 fGu 1w Fel 1 39T F:Rd U AL 3R

afSw :
- -
(Srecy) (3r21)
F.ZH 1.9 W FediToledl EgH JSTeATSIT
CRCIC 2.3 derss wafeled g diuest 306 egHaT dres
.| e 3. TaAcrer Helfh it
5.dhor 4 Ao
a b C d
A 1 2 3 4
J d ¥ 3
1 2 & 94
a b c d
2 3 4 1
B
J 4 ¥ 3
2 3F 4 1




a b c d

3 2 4 4
C

Jd d H 3

g 2 9 4

a b c d

4 1 3 2
D

J 9§ ¥ 3§

4 1 3 2

Answer Key: D

Q96 : C.L Stevenson criticises Traditional Interest Theories of

Truer Recgad 5T J & 3o IRIRS FAET RBegia $r Aeaer #d §

Russell and Wittgenstein

W AR (e

Mill and Bentham

Ao 3k dure

Hume and Hobbes

TG 3N gl

Plato and Aristotle

D

colel 3R 3RE]

Answer Key: C

Q97 : Which of the following meaning of the term 'Dhamma’ prevails in Buddhism

et & & Fla @1 7Y A qg F fav diqy g 7 gafad g

Unsubstantial

3eTr

Cause

&d

Pl

Quality

aror

S

All of these




D | @ wer &

Answer Key: D

Q98 : Which of the following sequence is in correct order in the light of Pratityasamutpada ?

fArfafad Ha @1 s gdicTadgae & deel # T8 &l

Sparsha, Shadayatna, Vedana

T, SIS, deAT

Vedana, Upadana, Trshna

deT, 39TeTe, JRoT

Avidya, Sanskara, Vijnana

Rupa, Sparsha, Vedana

D 9, Tq97, dcaAT

Answer Key: C

Q99 : Which of the following is not an attribute according to Vaisheshikas ?
IANH AT & AR T & & Slerar o7 =787 g

Difference

ERETC]

Separation

IGEAIE

Demerit

37

Highest Genus

D
_—

Answer Key: D

Q100 : Triputipratyakshavada is proposed by
Rgéivcaerare @t & @ frg carr yeuriad faar amr g

Gangesha

T




Kumarila

FATRT

P

Prabhakara

IHTRT

Jaimini

S ET

Answer Key: C




